Mother's Arithmatic » Simplification

(Type-3)

AIATR 0T

Find out the largest fraction among the fol-
lowing-
frfafaa o @ gk a2t fa=r =1 3 #ifaw |

6'11°3°’9°7

v e 92 o

W3 By ©¢ O

Find out the smallest fraction from the follow-

ing?
T o | werd 918 fo= g sa-w 82

1 1 9 500
10 100 1000 10000

(a) 200 ® L
10000 100
© L @ 2
1000

Find out the difference between the larg-
est and the smallest fraction from the

. 2 3 4 5
follwing 3'2'5°6
2 3 4 5
G JTd HIfTT |
3 1
@A) 5 (B) —
1 2
© ¢ (D) 2

Arrange the following fractions in descending
order-

Frfafaa fa= = sTauet e | =aftem Sifsa |

538 3
6°7°9°14
85833 p 8335
()9’6’7’14 ()91476
5833 D 3853
( )6’9’7’14 ( )7 9’6’14

Simplification

Which of the follwing fractions are in descend-
ing order?
e o 9 i o o st e H €2
a) 5,7 ,313 ®) L, 1335

8 12 4 16 1216 4 8
o 2 7L 183 8357
()8’12’16’4 ( )16’4’8’12

Arrange in descending order :—
STERIE] oFH H A it -
V8+\5, V6 +47, J10+43, V11++2,
Vo +/4

(&) (V7+¥6) > (VB+5) >

(VIO +V3) >(V11 +2)

(B) (Vo+v4) > (VI0+43) >(Vil++2) »
(V7 +V6) > (vB +5)

©) (Yo +4) > (N7 +V6) > (V8 +5) >
(V10 +43) (V11 +2)

(D) (V7+v6) > (VB+V5) > (VIO +V3) >
(VIT+42) > (VO +4)

Arrange in descending order :—

(Vo +a) >

371! A H At Hifaa-

V8 -V5. V7 -6, 10 -3, \11-+2.
N

(A) -J2 > B-5>J7-J6 >

2EE
[
5

(B) IT- V2 > V10 -3 > V6 -4 >
JE-\5 > 7 -G

(€) Vit-V2 > J10-3 V8 -5 >
V76 > 5 - Va

(D) V8 -5 > V7 -6 > 6 - V& > V1~ V2
> J10-\3
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10.

Arrange in descending order :—

ST A H SFafied hifaa—

1 1 1 1
V8 +/28"
1
V35 +1

1 1 1
A B1+v5 > 20+v7 35 +1

1 1
\/§+\/2_8 z «;‘26+\/E

1 1 1
B) B1+v5 ~ B+v28 ~ 26 + 410
1 1
J29 +V7 7 35 +1
1 1
7 B1+v5 29 +47 T

1
©) 3541

1 1
\/§+\/2_8 z «;‘26+\/E

1
J26 + 10

1 1
B1+5 7 V8«28

Which of the follwing option is correct for the
given numbers?
<t it Heemei % for fr § | wA-wee €2
12 32 45 22
— <<=
43 67 81 55

12 22 _45_32
43558167

12 32{22(45
43 67 55 81

12 22 32 45
D) 35 <55 <67 <81
43 55 67 81

1 1
(D) 29 +v7 3541

(A) 2=
B) 77

© 23

Find true or false—
FIH A A / SHAT B

M V12 > 316 > {24
(1) 325 > {32 > 48
(1) Yo >315 >24

V31457 29 +47 " V26 +410°

11.

12,

13.

14.

15.

(A) All are correct

(B) (I) & (II) correct & (III) incorrect
(C) (I) & (III) correct & (II) incorrect
(D) (I) & (II) incorrect & (III) correct

Find true or false—

AT R el / STHA B |

. 2 - 3 - S
NP NN
- 3 - 2 - 7

I 505 343 “ad5

(A) Both are correct

(B) (I) correct & (II) incorrect

(C) (II) correct & (I) incorrect
(D) Both are incorrect

Which of the following statement is/ are TRUE
frafafea § 9 FFE/FHE HoH T & —

(I) 333 > 3%

(I1) 333 > (33)®

(A) Both are correct

(B) (I) correct & (II) incorrect

(C) (II) correct & (I) incorrect

(D) Both are incorrect

Arrange in descending order :—
STl FH H Sa e Hifaa—

A =2

B=0231 4230402 420
C=35+314+383, . 30
(A)A>B>C
(B)B>A>C
(C)C>B>A
(D)C>A>B

Find correct/ incorrect ?

HITH HUT T / AT 7

(A) V206 - V199 > /399 - /393
(B) V19 + 31 < 23 + 33

(C) V69 + 27 < 543 ++22

(D) V24 +410 > J30 + 8
Arrange in descending order :—
TR THH H SFaTLed shiterd-

250, 340, 430, 5’20

(A) 340 > 430 > 250) 520

(B) 250> 520> 340 > 430

(C) 4% > 250> 520> 340
(D) 250 = 520 > 340 > 430
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16. Arrange in descending order :(— 19. Arrange in descending order :—
TRl T H erafterd s - STIE! e H Srafierd whifsd-
42 a5 28 21
kel T7 15+ 37 ~\35, {2937 , {57 - 55
(B) 4% > 335> 521 > Q42 (A) 17-15>J27-J25 > J29-\27 >
(C) 52 > 428> 335 > Q42 ﬁ—JS_S

(D) 521 = 335 = 242 = 428
(B) J29 - 27 > J57 55 >

17. Arrange in descending order :—

TR o B SAafe T - J17 15> 27 - 25
JV2,%3,4%,%6,'3412 (€ BBlEr > T fis s>
. 5755
&) Y3 > 43> 912 > 2 > %6 V57
B) 3 > 46 > Y& > 42 > 2 O] 7 ASPET-nEs> N2 >
©) 43 > Y& > 2 > {6 > ¥z sy
(D) 212 > 2 > 6 > ¥3 > & 20. Arrang;;g descending c:rder —
18. Arrange in descending order :— RS, 3°%, 4259, 5%
STeIEl oA | Sefted wifsre- (A) 330 > 42%0 > 5200 5 930
B 4'250 330’0 5200 2350
V2% 42, 12+, V28 441, VB + 4B i T o

(C) 5200 = 2350 = 3300 > 4250

(A) 1243 > JB+6 > JaB+i > (D) 3990 > 4250 > 250 > 520
V24 + 2
(B) V12++4 > J24+2 > B8+J6 >
V48 + 41
(C) V8+v6 > J48+V1 >12+V4 >
V24 +42
(D) J48+\1 > 24+\2 > 12+ 4 >
V8 +6
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